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Algebra 2 Honors , Name

Test - Quadral:lc Functions
Solve each equation by mkmg square roots.

1) 92 +1=-80 | 2) 64x* +6=55
A) 4V, —avs] B [ﬁ] B NETT - B
_ 2 | ) {1 —1} D) {3,-3)
O 2,2} D) (3, -3il g 8 4
Solve each equatiuln by factoring.
3) 3a° —4a-15=0 4) 4i + 16k+7=0
5 5 1 9 17
o LI e
4 7 7 4 4 1
o33 Plsd of3] P
Solve each equation with the quadratic formula.
5) 9n* +2rn-17=0 : 6) 6r* —Tr-5=0
A) F1+3v2,-1-32} A) {_5_ "
1+\/15 1-\/15 3 2
= % {7+f 71.7-iNT1
1+\/15 —1 \hs T 12
) 1 +iV10,-1-iv10]
by [2+ 15 ¥ o 'Jls y v 1~ 1‘/_}
18 7 18 4 4
Solve each equation by Q}-‘(‘\j cazdnod.
7 b*+6b-7=0 8) m*—10m—-93=0
A) {1,-7} A) {2,-18}
-B) {4, 20} B) {5, \[L
©) {10+ V21, 10- V1] C) (54 118, 5 - 118}

D) 7+ V6, ~7- 6} D) {22,-4]
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Solve each equation using any method. :
9) 6x*+2=218 _ © o 10) 6477 -5=59
1) m* =m+12 12) #° +4n=5
13) 6x% +5x=-8 14) 70 +2n=-3
15) 2n® =—Tn+11 16) 2x% +6=9x

17) B +2k-44=0
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. You must write an equation and show your work.

18. The length of a rectangle is 3 centimeters more than the width. The area is 108 square
centimeters. Find the length and width of the rectangle.

Lengﬂl . ' _ width

19. The léngth of a rectangle is 7 meters less than twice the width. Find the dimensions if the
area is 60 square meters.

Length width

20. The product of two positive consecutive odd integers is 399. Find the integers.

and

EXTRA CREDIT

A. Find three consecutive integers such that three times the sum of all three equals the
- product of the larger two.

B. The hypotenuse of a right triangle is 3 less than twice the shorter leg. The length of the
other leg is 3 more than the shorter leg. Find the length of the hypotenuse.

H



S\ mP\ '\ﬂ \ n(‘j 'quﬁom\ EXPY%’S\Q{\% M@*&S

55?6& *@P ond otton CQW\D\QJYQ\\}T

%Cgme\ our W oo oo Jym andbhahom.

Si\\Jrﬁe answec with Jodas T cemain.
Ylas i R T e
[ e +® o piean \o
" Foctor . Foctor |
ar\C Yol _ (o= Wn-5)
LS o ioy) SR, . = ¥
| @Ccmce\ We docdas | Cancel
oGS (oD (0 -5)
T (ax3D) 2 i MG
| O Plcebholder o Lon ‘\ﬁp Aresner
L -mril_ =
| | = e _ :
& AInz +18n ® 2o - 1O
Y9n%r DM m? +Hm ~ 5D
oo Anlorle) T e
n (nr\o) f (- (M)
Cance\ 3{3(3&@ ) | 2 (00 Cance |
Qo (D (3t )

| = = 2
RQC!UC@ ) e e } ﬁ-‘{




_Sm?\\ﬁ \cr.) Rethono) Ex?«e%s\cm Notes  Continued

& Ar2 +332*+ PH¢ @jﬁz -—f’f\h_-’r v
I il e s 10 N2 - 30+ 3on
EAT 3(02-Cnr)
| 02+ WMe +YD A(pz~ 130+ 3e)
_-,3\" (2D (crD) 3(n-DO=9)

(e ¥ (e v N(n-DMO-D
A (22 () 3(n-D (o)

(r+3)(e) A (0= (0D

B‘F(f“\'Zj__; 3(n-1)
c+5S 0 i




Simplifying Rational Expressions Video (Packets 13 and 14)

https://www.khanacademy.org/math/algebra2/x2ec2f6f830c9fb89:rational/x2ec2f6f830c9fb89:cancel-
common-factor/v/simplifying-rational-expressions-introduction

**¥You can ignore the exclusions. Just work on getting the rational expression simplified.***

Multiplying Rational Expressions Video (Packets 15 and 16)

https://www.khanacademy.org/math/algebra2 /x2ec2f67830c9fb89:rational/x2ec2f6f830c9fb89:rational
-mul-div/v/multiplying-and-dividing-rational-expressions-2

***You can ignore the domain and constraints. Just work on getting the rational expressions

simplified.***
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Simplify the expression, then find your anewer. Write the letter of The answer in each box with
the exercise number. If the answer has a ., shade in the box Instead of writing a letter in IT.

3x +12 a‘ +8a +15 : on® + 8n>
o x+4 ‘ @a +7a +10 §@5n +20n
- X—5 | aZ + 4a ~ 12 § n* -9n+14
98""40 o a? -5a+6 §® 3n* —12
2 i
x“ -9 a’ +9a+20 : Bn +18n
-ex+3' e & — 925 §® on® —18n
x> — 49 : 5a —15 i n° —5n — 36
033‘_'21 ea2’+5a—24 g@ n? +8n+16
5 :
x° +2x H a—9 : on +7n+5
10 :
x? - 9x . a® —9a ;® 6n° +15n?
Anewerg 1-8 : Answere 6-10 : Answerell-15
L X+2 faen 5 a+4d 4 n—9 n=7_
& x-3 0 gea_,;a, @a_s i n+4 Q3(n+2)
% =7 fom a4 3 1 : ntl 2n
-1 @ oL oL ot @2,
d x+7 § 5 a+4 L8 ' n+1
@8 3 g.a_i_s G a ‘6}1_3 3712
X +2 x+3 igmat3 a+6  igm2n n-
3 Eaa—5 a—3 §® 5 ) 3
51521384151941351173579321413912104156
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of the variables.

12a ' Aty 6abc®
1, 4843 : 2. 16yx° ] ey 3a*h?

n+6 —2uw* z+1
4 5+ 0 . 5 v+ D Ly
" {c+6)c—B) 8. =1(2r — 8)

* (c—5)c+2) r+82r -3

ot — b L dx—d
By L e

3q+15 | £+ 5 + 6
1. a* — 25 . 12. F+68+8

3s* — 27 T

13. 2+ 7 +12 ) - 14"&3,_2#

mE—dm—12 | ’ ¥+ 30 —4
A 16. i m s
115ﬂ+&—30 ‘ _ 18, P+p-2

72° + Tz — 42 ' | p-bpr+4
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C at 1s the lefernce Between OO
a Barbell and an Ocean? R

Exprese the product in simplest form. Cross out the letters above each correct
anewer. Write the letters that remaln In the epaces at the bottom of the page.
1, Zx . 16 2. 9x° X +3

4 5x° x—-8 6x*

2x =10 _ x> —16 x2 +6x+6 _ _1Bx
3 T - 2 4" 4 s
x + 4 X =5 : . 8x 7x + 21

5. x2+3x 10 x2 25 6x2-—8x, 4x
X2 —7x +10 Bx - 10x® x2 —1ix +24

7. 7 . e+7 . 8. 8c° & +7¢-30
“—49 ¢c-7 32 + 30¢ 24c¢

9, c=1 2c +1lc+5 0. =c~12  __ 18c
c+ 5 2 -1 6(:s c2+6c+9

N, 5e+45 4 -8l 12 2 —8c+16 122 —36¢
i0c+45 “c¢c+9 : 4 9¢% - 36¢

¢ +1 5(c + 4)
e+l 2¢%(c + 3)
ON

(7).
ON
5(c — 4)
2¢%(c + 3)
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Multiplying Rational Expressions

Student Edition
Pages 667670

Find each product. Assume that no denominator has a value of 0.

3 24sE? 12s%2
8s 368‘&

19m — 18  9»?

182 8m - 12

€+2¢ 72

5n+15- dn + 2
8n+4 3n+9

9.

k-4 16k+6
82 +3k k-2

11'

25"‘02_ 4
12 B-¢

13.

~5c—3 A-d

8

150 E‘!‘d '2{,‘_'_1

g S jﬁ

10y®

-32—33/- xy

B#+6+9 #—1—20
#-10t+26 £+ T+12

16.



